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worksheets

“Module 6 6 A—adal
Prepositions
Q excel in 4 d9an | O replace......with...... | ... SRS Vs O
Q result in o v — dl 35 | O cope with /S
Q invest in & i | Q interact with e Jelany
Q believe in Q i /2 e | O combine sth with &0 oy /[ poen. oy
Q participate in G Dlaw
Q centre on = focus on= concentrate on ‘ Je 35y | O lead to dlass / dl o
Q depend on e dain | O refer to Abast I gy Jemo / ) ke
Q comment on Je @l | O relate to 2/ dady
O congratu|ate sb on ul.c ...... (og Q contribute to é (“-“L‘“‘f
Q insist on de
Vocabulary
> additives | (09) 5 pab ©luSa) plakall ©bL| | > fatty food (& o) o dalol
» calcium poad8l saie | > a balanced diet 4l gin AL dazg
» fibre aslde BWI | > carbohydrates (oo bl 1) bgid
» preservatives (deabod) dladl> slge | 3 nutrition Ldas
Word Formation
> trick (v) (n) deas / gd3y | > tricky (adj) (L) dae Joladdl oo
> tempt (v) Sy% | » temptation (n) gl
» nutrition(n) &4da3 | » nutritionist (n) Ldss Glasi
» prevent (v) & / g | » prevention (n) B89 / aio
» prove (v) e Jw / el | » proof (n) Jda 7 oLl
» consume (v) <llgiww | » consumption (n) Mgl ‘ » consumer (n) ‘ elgiws
» strength (n) 849 | > strengthen (v) SS9l
» obese (adj) Onewe [ (o | > obesity (n) Lol [ Blal
Idioms
> give it (my) best shot G4z G)lad JAl /6agz $Hlad Jdi
» no sweat i M - Jarng Jgu Faud gl

> skate on thin ice

ol /bl

» get the ball rolling

sl 0,391 pasl

JV 3yl poiy /T / Jgiow

» keep (your) head above water

(sl aladl Cag,lall 3 dpols) > gea

» go the full distance

23T 5 eist Sy [ Bl g ] b

» show(her) the ropes

Lo st Jomy oLl Byl Lo ol pla)

» the ball is in (my) court

(Lo s Jany pldll (5595 Ol 48) (qako (§ 0,SUI

» jump the guns

lo ol Joms oLl (§ & iy

» saved by the bell

cawliall 39 3 @ilo opo g

O Fill in the gaps with idioms from the given list.

no sweat — give it my best shot — get the ball rolling — skating on thin ice

1. This case is going to be tough, but | promise I'll give it my best shot .

2. ‘Are you sure you can do it on time?’ ‘Yeah, no sweat
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3. You're skating on thin ice , showing up late for work every day.
Choose:
1. Everyone should contribute our country’s welfare.

Ain B on Cto D with
2. A great deal of people participated the Sports Day activities.

Ain B on Cto D with
3. He always refers his uncle when he speaks about success stories.

Ain B on Cto D with
4. You are grown up now and you can depend yourself.

Ain B on Cto D with
5. What you are saying has nothing that relates our original plan.

Ain B on Cto D with
6. | congratulated my students their success.

Ain B on Cto D with
7. This meal is low in . There's no bread, potatoes or pasta.

A nutrition B additives C preservatives D carbohydrates
8. Good and regular exercise are essential for a long and healthy life.

A nutrition B additives C preservatives D carbohydrates
Correct: S (S0 (See Ol 0l s 3535
1. The police has no (prove) proof against him.

2. The (consume) consumption of our natural resources can lead to disasters.
3. Eggs are said to protect our eyes and (strength) strengthen____ our immune system.
4. It can be sometimes (trick) tricky to follow social media.

5. Modern age (tempt) temptation are really hard to resist.

6. (nutrition) Nutritionists____ state that we should follow a balanced diet.

7. The (prevent) prevention of diseases is better than curing them.

8. Young people should organise their intake to be away of (obese) obesity .
Fill in the gaps with suitable PREPOSITIONS. (on—to—in—in)

1. The storyis related __ to many things in the real world.

2. Noor excels in chemistry more than any other subject.

3. The children depend on their parents to finish their education.

4. The students will participate in the writing competition soon.

5. Eating too many sugary meals can lead to obesity and health problems.

Mr. Alaa 70400456 3
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6. He insisted taking swimming classes regularly.

» ey o £ « 2

&8l Jl=s3l Lo Modal Verbs
1. He to visit the doctor in case he feels very tired.

Which of the following BEST fits the above gap?

|:| must to+ base verb 25 s §1 5l 2

B ought to+ base verb Wi b il 4ailil) JadYL daild o2

I:l might ought to / have to / has to / had to / will have to / don’t need to / doesn’t need
to / didn’t need to / don’t have to / doesn’t have to / didn’t have to

2. He be at the meeting; he's on a business trip this week.

Which of the following BEST fits the above gap?

I:l must Deduction / Certainty ¢misdl cila ya [ zGuy)
. can’t must + base verb (= I'm sure this is true ¢ Juaal) i mesa o i) 138 o (e )

[[] ought can't + base verb (= I'm sure this isn’t true g Jlad) & msa 52 o L8 1a Gf G 1)
[ needn't | usthave +v3 (ol G mmaa o ) 138 o (e )

can’'t have +V3 (ol b msaa e oAl 13 of (e Sl

Rewrite the following sentence using the words given.

1. It is compulsory that all employees arrive early to work daily. (have to)
All employees have to arrive early to work daily.

2. It is not necessary for you to book a ticket in advance. (needn’t)
You needn’t book a ticket in advance.

3. You are not allowed to drive your car at high speed. (mustn’t)

You mustn’t drive your car at high speed.

9 s adlaall Jamdl 3
Jelall + (a8l Jad)l + base verb  (Jatiwdlly gyl 3)
Jeladl + a8l Jad)l + have + V3 (oWl 3)
had to / needed to + base verb s2ll § 89 52l lacle

Mr. Alaa 70400456 4 i laa
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u

(]

g szl Clasoul 2:=W  Quantifiers

dgrall p g dganall Gy (AT A Y

little, a little S9dmo & Julb lots of, a lot of, plenty of 39das p&939da0 e 4SS
few, afew sg9das Ju3 some 2 ax - any2
many sds A5 - much 4SS A8 No 39danll_pé9 39daeall= not any

O Choose the correct answer.

1. There is very information about the marathon on the event’s website.
a. a little b. few c.afew d. little
2. James acquired ____knowledge on diet and nutrition from that course he took last summer.
a. many b. plenty of c. lots d.alot
3. I drank coffee and now I’'m not feeling well.
a. too many b. very c. plenty d. too much
4. Do you have news from the doctor about your blood test results yet?
a. any b. a little c. many d. some
5. Ali was away on a fishing trip with his grandfather for __ days during the holidays.
a.alot b. lots c. many d. plenty
Rewrite:

There is no sugar in this juice. (any)

There is not any sugar in this juice.

2024 4 (il a3 gial

1. He to check the email before attending every meeting.

Which of the following BEST fits the above gap?
. has
|:| must

|:| could
[] should

Mr. Alaa 70400456 5
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2. She bring the ticket to the stadium. It is not necessary as it is already on her phone.

Which of the following BEST fits the above gap?

|:| might
[] should
. needn’t
|:| mustn’t

3.1t heavily last night. The streets are wet.

Which of the following BEST fits the above gap?

|:| can rain

|:| might rain

. must have rained
|:| might have rained

4, We at home, but we decided to eat outdoors.

Which of the following BEST fits the above gap?

|:| mustn’t have cooked
. could have cooked
|:| might have cooked
|:| can’t have cooked

Rewrite the following sentence using the words given.

1. You didn’t train well for the final match, so the result was terribly awful.

(Give a piece of advice using : ought to)
You ought to have trained well for the final match.

2. It is prohibited to take pictures in this area because it is a military property.

(Rewrite using the suitable MODAL VERB)
You mustn’t take pictures in this area because it is a military property.

3. Hamad had the chance to use the metro but he decided to take the bus instead. (Rewrite using : could)
Hamad could have used the metro but he decided to take the bus instead.

4. | wouldn’t play basketball without doing some warm-up exercises first. (Rewrite using : had better)
| had better do some warm-up exercises first.

Mr. Alaa 70400456 6 i laa
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All students have to come to school to sign the form.

Choose:

1. 1didn’t have

(have to)

A. much B. any C. many D. no
2. There is food in the fridge. We don’t need more.
A. many B. much C. any D. afew

3. You have to prepare for the worst and able to cope

the challenges of life.

worksheets

5. It’s obligatory that all students come to school to sign the form.

money on me, so | only bought a T-shirt. I'll buy the trainers next week.

Ain Bon Cto D with
4. To be successful in your life, you should believe your own abilities.
Ain Bon Cto D with
“Module 7 7 Al
Collocations
» break the law Ol Call
» commit a crime Aoy Sy
» take sb to court ASxall asd pudy
» find sb (guilty-innocent) (58 -cide) bo asess O dzo
» pay a fine dalye by
» serve time in jail/ prison (Jiiaell — yzeadl) (§ dghc 548 gads
» bring a criminal to justice Alall o0 pidy
Word Formation 1
Action | Jaall Crime doayxd| Criminal el
» steal — stole — stolen ‘ G0 | theft 48 W)l ddas | thief Gl / yalll
» rob sb of sth b glaww | robbery shull ddos | robber bl
» murder (v) Toes Jxi | murder Jesdl Ju&)l | murderer Lo J3L8J)
» vandalise (o8l W) Ly | vandalism o> | vandal Oyl
> kidnap Wle 85a)b cakiso | kidnapping BUaxsYl ddes | kidnapper Calaisea!
Guall Cl)
> shoplift Bl sU3T alus B0 | shoplifting alud @8 | shoplifter dadl o)
» hack | ©leslas G/ 85621 eit | hacking Ologlae 48w | hacker Ologlaa al
> burgle / shun /08 ek | burglary W glawdl | burglar | of J3lwdl ja)) S eoxiizall
break in / into Wk o e Bl Jowa)
Word Formation 2
» disappear (v) &3 | » disappearance (n) slazs|
» reason(with) (v) 9ad / 14 | » reasoning (n) gUS / pyS
» investigate (v) 8 B& [ e Sy>i | » investigation (n) RSP ATIES
» mystery (n) w2 9es | » mysterious (adj) oaele
» sympathy (n) 2o Lablaky /Lablal | 3> sympathetic (adj) Cablaio
sympathize with
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worksheets

» solve: (a problem- the riddle ;3)-the issue 4dux3- a puzzle -mystery (>g0&- dow

murder- case -crime -an equation dslxs)

> investigate : (the cause of Jl cuw— hypothesis dus,9— the possibility of 468 S @i

a person gasi oe Gy=o—the death of ...k yasi 8lag > — an incident-

the impact / effect of _xb)

» ordinary: (day — life — worker- citizen- person- man- woman- child - oyt gl [ Sole
meeting- eventisd>- camera)

» simple: (requestddo- task dege- question- machine- music -solution J>- dogd § oy Jgu

desighesai- explanation z <~ plan- use) L ‘OL“ga.”jT

> clue: (hidden a>- secret ~- falsecsly- misleading Juzs- doglan 3y0) o) Jguo sl lize of Juls

important- essential gslol- vitalege- possible)+ clue Gla) Judo Cud @S d>-lin

> evidence: (more — no — enough- bring to lightye Caiss —
Present pJi)+ evidence

3979 e Ju5) Jxalb Bg>ge (35l of Juo

(58!

» steal -stole - stolen: (money- food- a TV- watch-
wallet- pursessas (wS- car -idea- concept psgis )

2l 25 (JBST-slul) G

> shoplift: | Lgiad o O 090 Gyl el cidlomall 0 gl G

» rob: a bank / rob sb of their money

Odl gy Wt o8 e glawy

» break -broke-broken into: (house- store- car- shop)

b Hlw / OB ey

» lie -lied — lying(to):

QIS doi — e 0SS

» trick: (sb into doing sth)

dlaig dde Wy [/ pasd piso

» cheat: (in an exam-customers- at cards- at chess-games)

Sy paso / (Fas-oliel) § Lk

» robber (pgre b Gt PLdls yoseil sug — ddly 85a0h 2gidl Jio S @iy yal) Hogiy pal
» thief- thieves: (W Lol oo sb] 3 m) @yl — )
> burglar: () 3 We Casbiadl of Jjladl ©bgiome 48w (3 pasaseio) e ya)
» suspect(n) G diiine ased
> (eye) witness (depns Gd> bo Sy pasess ) Ole dals
> victim (ol-pabo-Caie- o y0-dasyz) duoed
» turn (himself) in B ias — (duwdd) ol | > find/ found out OBy [ CasiSs
> let sb off O 9ém [zl @y | > clear up (S 245 59u0) o9
> hold up (b WLe) e slawy | > break out (oead)) e 08 o0 Lye
» lock up O [ J&iay | > run off with A Oy 5o Lalasy
» get away (from) d Jlawadl S jasi oo wyge | > break in/into 89aJL 8)leww o O ey
» escape from prison ozl 3o Oy
»arrestsbfor...... L dogis yasd Je padk
» blame sb for sth/ v-ing Je pasd pgh
» blame sth on sb OM8 de.....o9k b
»accusesbof 3 pASd egh
» chargesbwith 3 pasd agh
» sentence sb to (death-5years in prison) s pasd e S

Mr. Alaa 70400456 8




My

Prepositional phrases ( for & without )

worksheets

» for a change il Jw (Ao | > without permission Gaus O3] 09
> for good Glg / 4d Ay Y /0 | > without exception e L) 9
> for all | know ad,ci o) (adg /plel o Hud e | > without sh’s knowledge dl s of Ogd
» for nothing Jblae 09 / CBua Db | > without warning I] Bl 09o / pudd 09
» for certain= for sure 4SWL | > without fail AST U / Jlgo apar 3
> for the best J283W | > without trace ST of O

» for the time being

W/ ool c3q)l §

» without delay

236 09

1. The police are still looking for the

who damaged the cars in the parking lot.

Which of the following BEST fits the above gap?

. vandals
burglars
murderers

| shoplifters

2. Jack couldn’t stay alive after the crime, but luckily his____ were caught and sent to prison.

Which of the following BEST fits the above gap?

vandals
| burglars
. murderers
|:| shoplifters

3. You are not supposed to

in a test.

Which of the following BEST fits the above gap?

rob
| trick

steal
. cheat

4. A young lady was the

of the crime and was arrested on the spot.

Which of the following BEST fits the above gap?

victim
robber
suspect
witness

(L]

\4

Fill in the gaps with words from the list below: (There is one extra word.)

1. There is no clear evidence that he intended to

Mr. Alaa 70400456

improper / inedible / commit / wisdom |

commit __ acrime.

: N

R

acrime

a robbery
< a theft

a burglary
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> Fill in the gaps with words from the list below: (There is one extra word.)

misleading / serving / carbon / leadership

1. After ___ serving ____ time injail for breaking into the bank, the two men were released.
»Fill in the gaps with suitable PREPOSITIONS. ( without — with — for — up — from — of — out — off )
1. He was arrested ____ for___ breaking the laws.

2. The police charged the security guard with robbery.

3. He blamed his friend for not coming to the party.

4. The murderer had escaped from the scene before the police arrived.

5. That is the man whoisaccused __ of  theft.

6. He was arrested for selling the match tickets illegally.

7. The detective is determined tofind___out  who committed the crime.

8. That report has to be finished by five o’clocktoday _ without_ delay.

9. He did a terrible thing. | think they locked him ___up__ and start investigation.

10. The bank robbers ran ___off ___ with three bags full of money.
S S0 (See OlalSIl ol e 35,5

> Complete the sentences with the correct form of the given words.

U The police are investigating the girl’'s _ disappearance_ (disappear).
( disappear — disappeared — disappearance — disappears) *
U She's absolutely determined to go and there's just no ___ reasoning____ (reason) with her.
U The police have begun an ____investigation___ ( investigate) into his death.
U The bag disappearedin __ _mysterious __ (mystery) circumstances.

U My boss is very sympathetic (sympathy) about my situation.

( sympathetic — sympathy — sympathize — sympathetically )

She just needed someone who would lend a sympathetic ear to her

Mr. Alaa 70400456 10 i laa



« Worksheets

dubo sl o) 15208l If Conditional

Type (2) If + Joté + (V2), = Job + would / could + ias Gif Lo 41
Jolé + would / could + jxas if + Sl + (V2) (if 4 sS2all)

Type(3) I + &t +(had+V3), =Jcl+ (would/could + have + V3)  (if el L)

Jelé + (would / could + have +V3) + if + Js& + (had+V3) (if 4 sS2all)

Write the verbs in brackets in the correct CONDITIONAL FORM.

1. If she (use) had used my instructions, she wouldn’t have missed her way.
2. | think you (earn) would earn a lot if money if you were a football superstar.

3. If he (spend) spent much time studying, he could pass the final exam easily.

4. They couldn’t have fulfilled their dreams if they (not plan) ____hadn’t planned well.

Put the verbs in brackets in the CORRECT form.

1. If | (be) were you, | would see a doctor.
2. If she left her house earlier, she (catch) would catch the train.
3. If she had left her house earlier, she (catch) would have caught the train.

4. If | hadn’t been in Qatar in 2022, | (not/attend) couldn’t have attended the world cup matches.

> Rewrite the following sentences using if.

1. Ali didn’t play well, so he didn’t win the last match. (Use: if)
If Ali had played well, he could have won the last match.
2. Mona eats too much and she feels tired. (Use: if)

If Mona didn’t ear too much, she wouldn’t feel tired.

Mr. Alaa 70400456 11 i laa
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dac Al
2 If only/ wish
n
Wish (1) If only/ Wish + (V 2) (el b il dles cuilS 1))
Wish (2) If only/ Wish + (had + V3) (=l 8 il dlea culS 1Y)
Wish (3) If only/ Wish + (would / could + ,x<x) (Calad) o il 4 il dlea S 1)
Choose:
1. 1 wish he my clothes without my permission. That’s annoying!
A wouldn’t take B didn’t take C won’t take D hadn’t taken
2. If only Dalal wasted so much of her time playing video games yesterday!
A doesn’t B hadn't C won’t D wouldn’t
Rewrite:
3. The customer didn’t give the driver a chance to explain the situation. ( Rewrite using “if only”)

If only the customer had given the driver a chance to explain the situation.

Correct:
4. | wish he (come) came early to start the party now.
5. If only they (arrive) arrived on time. They never come early.
6. If only they (arrive) had arrived on time yesterday.
7. 1wish they (plan) ___ would plan____ for the project tomorrow.
2024 A &l a8 gal
1. While she was watching TV in her living room, a was upstairs, searching

through her bedroom.

Which of the following BEST fits the above gap?

|:| kidnapper
. burglar
|:| robber
|:| vandal

Mr. Alaa 70400456 12 i laa
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2. The

asked for 1 MS to return the boy back to his family.

Which of the following BEST fits the above gap?

[] theft

|:| burglar

|:| shoplifter

. kidnapper

3.The shot a policeman before escaping from the bank.

Which of the following BEST fits the above gap?

[]
[]
[]
[l

robber
burglar
shoplifter
kidnapper

4. He spent thousands on security cameras and alarms in his new department store to deter

Which of the following BEST fits the above gap?

|:| thieves

|:| murderers

. shoplifters

|:| kidnappers

1. Where if you had a large sum of money?

Which of the following BEST fits the above gap?

[l
[l
Ll
[]

can you go
did you go
will you go
would you go

2. He wouldn’t have been punished if he to my advice.

Which of the following BEST fits the above gap?

[]
[l
[]
L]

listens

has listened

had listened

would have listened

Mr. Alaa 70400456 13
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C. Write the verbs in brackets in the correct CONDITIONAL FORM.

[EEN

2. 1 don’t imagine you (drive)

. If Ali ( follow ) had followed___ the instructions, he wouldn’t have missed the way.

could drive if you didn’t get the licence.

C. Write the verbs in brackets in the correct CONDITIONAL FORM.

[ER

N

.1 (save)

would save

. If he ( study) had studied____ hard yesterday , he wouldn’t have failed.

a large sum of money if | were you.

C. Write the verbs in brackets in the correct CONDITIONAL FORM.

1. If I ( know ) had known you needed help, | would have helped.
2. She would travel to Turkey if she ( have ) had enough money. [Type 2
3. She would have travelled to Turkey if she ( have ) had had enough money. [Type 3
» Correct the verbs in brackets using wish or If only
1. lwishI(travel) would travel to the U.S soon. Future wish
2. If only they ( travel ) had travelled to London last year. Past wish
“Module 8 8 i)
Phrasal verbs & prepositions
» go through (a report —a summary) T T8 / ol jasin
> go ahead with=start b pased 4 03b Of day s Jons plall § &80
> go on with = continue Lo o Jos § poiawd / Juolg

» go along with = support; agree

Lo s po 3819% /o (il /il

» go off (food-drink)

ol ol SN wle pt muas / duwis

» play a trick on sb

((fd> A€ oo B pasd Jazm) piso

» play a prank on sb

0 lie oS /(Lo pasad Tdas (o of larlie Jomy) s

» play a joke on sb

055y ol Jad e 5B of 6 Jom pol

» trick sb into (doing sth)

Lo s Jom poly dlasmg paskd foso

» fool sb into (doing sth)

b s Joms poly dlazog pased Jadu

» deceive sb into (doing sth)

Lo s Jom poly dlazmg paskd fiso

» mislead sb into (doing sth)

b s Jom pody dlazmg paseds S

» trick/ cheat sb out of (their money)

Al dzly yass Je cuaiy

» rip sb off

(L s olon 3 orld yos tio 05T) by /e

» be (fooled-tricked-deceived) by sb

(Usezall (guo) e Cuaily /..dlauly) pusd

» fall victim to (greed-robbery-murder-theft)

» attract sb into a place

Mr. Alaa 70400456
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Word Opposite Meaning

@ official » unofficial o) e
® known » unknown B9ym0 pé
® available » unavailable Py pe [ Flie pe
® usual » unusual Sliae pé
® forgettable > unforgettable Blwd HSes Y
® expected > unexpected @e}mj«.c
® affected » unaffected | L s le pne
® suitable > unsuitable Cunlin p
® edible > inedible SN Do 2
® adequate » inadequate B8
® inaccurate » inaccurate RYCRgYS
® legible » illegible 2l nf [ poghe pE
® |ogical > glogical e pe
® relevant > grelevant wlio pe /o dip dJ
® rational » irrational WdMae pe
® possible » impossible VeSS
® proper » improper el e / @M &
® practical » impractical s p&
@® appear » disappear o
® enable > disable s Jos By /[ (Ban
® courage » discourage dady / oo @i
® connected » disconnected uaio pe
® able » disabled Blas / Jaxs
® approve » disapprove e o Y/ i Y / duso Y
® |ead » mislead s
® |ead » misleading JLas
® manage » mismanage s oo i
® calculate > miscalculate Uas S0 s
® interpret » misinterpret Uas Sio iy
® informed > misinformed Uas Ko oyl @
® informed » uninforme ol e 0y o

® cooked » undercooked Jo S ol 4
® cooked » uncooked bl (e gglas pe
® funded » underfunded B Jugad 4
® developed » underdeveloped B8 Ko ;.uwf;
® ability » inability o cued b s gl el e §)adll pue
® ability > disability Bzl A8yl
® able » unable o o bo s ol pladll e )08 e
® enable > disable Jasdl e Mo (oliy) Jlasy / Cadgy
@ like (verb) > dislike oo Y
® like (preposition) » unlike J e / Se ds

Mr. Alaa 70400456
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My
® end » en I= dalgy
® flaw > flawless Gl o U/ (e
® count > countless e Vg d Y
® speech » speechless sl Y/ shill 48l
® defence » defenceless A A Y/ il e gl adaian Y
® point > pointless Bud Al /825 M
® time > timeless Cgr 39dome Al [ Cudgi A yud

1. Food goes quickly if it isn’t processed properly.

Which of the following BEST fits the above gap?

|:| on
B off
|:| along
|:| ahead

2. The security guard was

-responsible. He didn’t do anything to stop the fight.

Which of the following PREFIXES is added to the underlined word?
un-

in-

ir-

[]
[]
[]
[l

im-

3. Unfortunately, most of the applications were

-available on the website.

Which of the following PREFIXES is added to the underlined word?

[l

in-
. un-
|:| dis-

|:| mis-

Fill in the gaps with words from the list below: (There is one extra word.)

improper / inedible / commit / wisdom

1.The improper____ care and unbalanced diet can lead to health problems.

Fill in the gaps with suitable prepositions.

1. You can go __on__ with your tasks until your cousins arrive.

Fill in the gaps with affixes from the list below: (There are 2 extra affixes).

mis__/dis__ /

__mis

less / __ship

1. The supervisor was fired after he was found guilty of
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Fill in the gaps with affixes from the list below: (There are 2 extra affixes).

1.
2.

dis__ /under__/ less/ __ hood

| was speech_less___ when | won the first prize.

The organisation is under__funded because it is not receiving enough money from donators.

Joosll Slylee o8 Relative Clauses

Jile + who / that + J=8 (who/that S« Jilall Jeldl (i Jaw da)
Jile + who / that / whom + Jclé + Jxé (who/ that/ whom Jilll J s=iall Jas Ja3)

Jile x¢ + which / that + J=¢ (which/ that Jile ) Jeldl Jas Ja)
Jile ¢ + which / that + Je + U= (which / that Jile ) J sl Jas Ja)

Jile ye /(e + whose # 555 aul # J=é # Aaall 3L 4 Jad 4Ll (his- her- their- its — aul’s)

OSs + where + Jeld + J=d

) [ 5+ when + el + J=é

When = in/on which where = in/ at which

Choose:

1. The old shopping souq is you can find many attractive souvenirs.

Which of the following BEST fits the above gap?

[
|:| which
[]
L]

what

where
whose

2. | wonder car this is! It has been here for a long time.

Which of the following BEST fits the above gap?

_[Hm

who
which
where
whose
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3. The man we met at the theatre is an actor.

Which of the following BEST fits the above gap?

|:| where
|:| which
. whom
|:| whose
4. Thomas Edison was the scientist invented the light bulb.

Which of the following BEST fits the above gap?

. who

|:| where

|:| whom

[] which

Join the following sentences using the given RELATIVE PRONOUN.

1. John doesn’t watch films. His best friend is an actor. (whose)

John, whose best friend is an actor, doesn’t watch films.

2. Yesterday | met a man. He works as a practitioner in a near health centre. (who)

Yesterday | met a man who works as a practitioner in a near health centre.

3. I saw Hassan’s photo. It was posted on Instagram. (which)

| saw Hassan’s photo which was posted on Instagram.

4. Hamad took us to the park. He plays football there. (where)

Hamad took us to the park where plays football.

5. Huda solved the puzzle. She was praised by the teacher. (who)

Huda, who solved the puzzle, was praised by the teacher.

6. Everyone looked at the boy. His face was pale. (whose)

Everyone looked at the boy whose face was pale.

7. My bedroom isn’t very big. | told you about it. (Join with “about which”)

My bedroom, about which | told you, isn’t very big.

8. | bought this present for Hajar. She has recently graduated from university. (Join with “for whom”)
Hajar, for whom | bought this present, has recently graduated from university.

9. | was speaking to a woman. She is my aunt. (Join with “to whom”)

The woman, to whom | was speaking, is my aunt.
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1. Please, go

this sheet and find if there are any mistakes.

Which of the following BEST fits the above gap?

(1 off

|:| ahead

. through
|:| along with

2024 4 &ib af gial

2. A: "Could | ask you a rather personal question?" B: "Sure, go

Which of the following BEST fits the above gap?

[1 off

. ahead

|:| through
|:| along with

3. Ali's already agreed, but it's going to be harder persuading Hamad to go

Which of the following BEST fits the above gap?

(1 off

|:| ahead

|:| through

. along with

1. The old lady lost her bag is my neighbour.

Which of the following BEST fits the above gap?

. who

|:| when
[1 which
|:| where

| 2. That is the restaurant about

| told you.

Which of the following BEST fits the above gap?

I:l who

|:| when
. which
|:| where
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3. The boy

| was looking at is my grandson.

Which of the following BEST fits the above gap?

|:| which
|:| when
. whom
|:| where

Join the following sentences using the given RELATIVE PRONOUN.

1. Hamad doesn’t eat fish. His father is a fisherman. (whose)

Hamad, whose father is a fisherman, doesn’t eat fish.

2. Burak restaurant is in Doha. | usually eat in it. (in which)

Burak restaurant, in which | usually eat, is in Doha.

hl_*éljizztz_ifusIje_- 9 9 Al
Collocations Meaning Collocations Meaning
» soil erosion 4 SG | » climate change Ul !
» oil spill Ladl Oud | > acid rain w2ol> 4las
» species extinction BluaYl (olyasl | > water shortage oluall jads
> illegal logging A58 sl =il adad | 3> toxic waste dolw Llas
> carbon footprint 4.399,81 dasad) | 3 0zone hole 09399 il
Word Formation
» environment(n) s
» environmentalist(n) &l O95dm @lle
» environmental (adj) (problem) S
» conserve(v) (L)lgag dudl) e Ladloy
» conservation(n) (Ly)lgag didl) Je blasl ddos
> conservationist(n) L)lgeg didl de Blasll golall (aseall
» protect(v) (from) RIS
» protection(n) LB gl /L lex!
» protector (n) J ol /e pdlae/ 2>
» protective(adj) (shield)(measures) (4889 wlely>l-48l9 slil) B9
> protected(adj) (dgoms o 51 (30 dg2) oons
> prevent(v) & /3y o
» prevention(n) Bg/Lle>/rin
> preventive(adj) (measures-steps) (©lsly>))asle/ 38y
» preventable(adj) (disease) daio 9l A3li| (Son/die B Il Sano
» pollute(v) Ggh
» pollution(n) gl
» pollutant(n) & glall 8ol
> polluted(adj) (Sghdb i) sgho
» polluting(adj) (gl Cous) gl
» harm(v) S35/
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» harm(n) SN /)y 2l
> harmful(adj) $35e/ b2
» harmless 3 i udd /83T Y
» destroy(v) ol
> destruction(n) edi/ Hled
» destroyer(n) ke pased
» destroyed(adj) (o045 @3) youb
» destructive (adj) (weapons) (Hled) Cuno) yok
» endanger(v) sl yoy
» danger(n) sl
» dangerous (adj) (foul) s
> endangered (adj) (species) (Mo p21ya@sN) yasll (o3as
> threaten(v) ddg
» threat(n) dodgid) Hduae /augs
» threatened(ad) (Wigdl o a8lg) 3gh
» threatening(adj) sl due / ydua [ oags

Phrases with earth

O where on earth

(Aol e Juy 1en5) elowsd) G 0l

Q bring sb down to earth with a bump

(03501 (BI3) ol ] o) dnzm/ By

Q like nothing on earth 2 e S & )
Q go to the ends of the earth b s g 3uboed) dawg 3 Lo a8l Jdo
Q disappear off the face of the earth o2l g de oo s flales Lasso
Q down to earth Sl Y /e Olud)

O from the four corners of the earth

Sy (el / Ll S o

Vocabulary
Word Meaning
» downpour Bgie g arlae S 3¢ o
> frost | (Gl oo JBT Bylyadl dmyd 0955 e dgiall (SWII (3 cladl e 0953 ] (po dnedy di) pudieo
» blizzard dls daole
> mist 8ok cladl o (o) Y1 (398 clggll 3 O95k) s
» heatwave (BAA) yodund dxdiyo 8yly>) Byl g0
» showers (Buad BAa) Jadluch Caxas yas) Jaddl wils)
» humid ddle dghby 1 / by
»thunderstorm (B9 sey gud) ducy dasole
> hail (Ll S e Jabluds i s adad) 553
> overcast S [ o] o D5 ))) zdly pf) eiind

Confused word

Meaning

» attempt: (first-second-last)

Yyl oda s be Wleg oo 9950 Lo Bole bo £l Jond (Ba5T-436- Jof) Uyl

» effort : (make-into-to)

» trial : (product-person-plan)

Qe LN 351 JB dols Lo paseds o Lo das 9l b s Hlas| dudes) Hlas) -4y2

ASlrs (o g

» experiment: (idea-activity) ‘

5 i gty of 3T\ dudess &y
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Confused word

Meaning

» result: (of)

(3T e Aadd 9l G Cadmy £ o) domsld

» effect : (of/ on)

PT ;L.s\ijjiﬁ]'uai&b‘,‘:w, LA 9(5\:‘10-}3?& ’42‘ L &A}em’")‘;}jk

» consequence : (bad-worse-serious)

| (Erdommn o i Lo £ o il of doeaid) LBl of ddle

» influence: (good-great)

) Hgles of 4Sa5 Ao e e of bo aseds dShiay of dSdo U1 W) 3445 /650

1. One way to prevent soil

is by planting grass and trees.

Which of the following BEST fits the above gap?

|:| hole

[ ] logging
. erosion
|:| footprint

2. The students planned to meet a

to discuss the effects of toxic waste on

the environment.

Which of the following BEST fits the above gap?

conserve
conserved
conservation

[
[
[
[]

conservationist

3. lllegal

has a negative impact on the environment and people.

Which of the following BEST fits the above gap?

I:l hole

BN logging
|:| erosion
|_| footprint

4. Governments must preserve

animals from extinction.

Which of the following BEST fits the above gap?

I:l danger
I:l dangerous
. endangered

|_| endangering

5. Water pollution caused

effects on marine life.

Which of the following BEST fits the above gap?

. harmful
I:l destroyed
I:l protective
|:| endangered

Mr. Alaa 70400456
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6. Climate change is the main reason behind the of rain forests.

Which of the following BEST fits the above gap?

|:| danger

|:| protection
. destruction

|:| environment

Fill in the gaps with words from the list below: (There is one extra word.)

misleading / serving / carbon / leadership

1. There are several ways to reduce ___ carbon ___ footprint.

Fill in the gaps with words from the list below: (There is one extra word.)

spill / preventive / erosion / shortage / climate

1. More and more trees are planted to stop soil erosion .
2. Air pollution is the main cause of the climate change.
3. Some preventive measures must be taken to stop water pollution.

4. The accident of the oil tankers resulted in huge oil ___ spill ___.

Fill in the gaps with words from the list below: (There is one extra word.)

rain / polluted / endangered/ position / threatens

A. The extinction of some species threatens the diversity of living creatures on earth.

B. The acid rain destroys vegetation because it contains chemicals.

C. The polar bear is a good example of endangered animals that live in the cold areas.

D. Many rivers are polluted by factories wastes.
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Jsezall isall baclal Passive Voice
s ) (o ) A

S e ) .
a3 40 )
am am
have
is is
has + been +V3
are +V3 are + being + V3
had
was was

Kwe re / kWe re / K /

/ Al Jladl 5 Al 4 ) \ / ((oale ) Aadlil) Jladl) \

will must have

must would have

should + be + V3 should have + been +V3
may will have

be going to might have

o AN J

AW JwdYL s O

know — believe — think — say — suppose — report — claim — allege e<3 — expect - hope

Jol Jebé + V. to believe + (that) + 06 Jelb + Jad

» The police believe that the killer is dead.

» Reporters say that the famous player will retire soon.

> | think the last exam was easy.
impersonal passive _:Jugzxill Hlids,b sl
It + V. To be + believed that + & WS Aol 3L (Jeudl JoY1 4 )

O It is believed that the killer is dead.

O It is said that the famous player will retire soon.
O It is thought that the last exam was easy.
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< 451 Alesd! (8 Jordoe SIld O 13] 79350 ezl (sS0 O Sweed! 10 O

Jsl Jelbd + V. to believe + (that) + b Jeld + Jad+ Jgnie

» They say that the local factory dumped toxic waste into the lake.

O It is said that the local factory dumped toxic waste into the lake. (Impersonal passive )

O The local factory is said to have dumped toxic waste into the lake. (Personal passive)

Write the verbs in brackets in the PASSIVE VOICE.

1. The forecaster predicts the weather every day.

The weather is predicted every day

2. He is writing some urgent messages to the staff right now.

Some urgent messages are being written to the staff right now

3. The worker watered the tress last night.

The trees ___ were watered last night

4. They have constructed new roads and bridges since last year

New roads and bridges have been constructed since last year .

5. People know that smoking leads to death.

It is known that smoking leads to death .

2024 4l (il a3 ghal

1. To reduce your carbon , you should walk to work instead of driving your car.

Which of the following BEST fits the above gap?

[]
[l
[l
[l

footprint

erosion
change
waste

2. Many countries in Africa are suffering from water

Which of the following BEST fits the above gap?

[]
[]
[l
L]

spill
shortage
change
acid
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3. You won't believe the amount of waste that is dumped into the river every year.

Which of the following BEST fits the above gap?

|:| acid

. toxic

|:| climate

|:| shortage

4. Recent statistics believe that the ozone over the Antarctic is dangerous.

Which of the following BEST fits the above gap?

. hole

|:| rain

|:| spill

|:| waste

5. Some argue for a return to a pre-industrial society.

Which of the following BEST fits the above gap?

|:| environment

|:| environmental

|:| environmentally

. environmentalists

| 6. The severe wind left nothing except houses.

Which of the following BEST fits the above gap?

|:| destroy
. destroyed
|:| destructive

|:| destruction

7. Thisis a area where animals can live safely.

Which of the following BEST fits the above gap?

|:| protect

protected

[]
|:| protective
[]

protection
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8.

is a substance like gases and chemicals that pollutes the environment.

Which of the following BEST fits the above gap?

|:| Pollution

|:| Polluting

. Pollutant

|:| Polluted

9. This group of chemicals is known to be to people with asthma.

Which of the following BEST fits the above gap?

|:| harm

|:| harming

. harmful

|:| harmless

1. This house is said in the 19th century.

Which of the following BEST fits the above gap?

[l
[l
[l
[]

was built

to be built

being built
to have been built

2.

to be one of the best environmental scientists of our time.

Which of the following BEST fits the above gap?

[l
[l

[]
[

He believes

It is believed

He is believed
They are to believe

3. By the end of the year, a new sports centre in our town.

Which of the following BEST fits the above gap?

[l
[l
[l
[]

will build

will have built

will be building

will have been built
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Write the verbs in brackets in the PASSIVE VOICE.

1. The results ( examine) are being examined by the physician at the moment.
2. Some important emails ( send ) will be sent to the staff tomorrow.

Write the verbs in brackets in the PASSIVE VOICE.

1. English ( speak) is spoken by millions all over the world.
2. The patient ( give ) will be given a chance to practice walking next week.

Write the verbs in brackets in the PASSIVE VOICE.

1. The flat ( decorate ) is being decorated by the worker right now.

2. The house work (do ) ___has beendone___ by mom already.
3.Awhitecar(see)___ wasseen____ to exceed the speed limit.

4.1(make)  wasmade___ totidy my room yesterday.

Rewrite:

1. We bought a new car last week. (Change into passive form)

A new car___was bought last week .

2. People believe that she plays tennis well. ( Change into passive form)
She ___is believed to play tennis well
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'““M odule 1 10 A—adal)
Phrases with come
» come true dbd> ray /3o
» come to mind ol 1ol
» come to terms with (W e oudl) 28Ig) U (520
» come to light =to be known (evidence-proof-facts) CGiSSy — de oMl o
» come of age S5 88kl o )l e ) Js
» come first DoVl A /J 9Vl dsyall @ Gl
» come in handy=to be useful Taade 91 18U prasmy
» come into effect dlad’ @iy /Jg2aell Gl ua
» come naturally JUadl Jgew zrasey /a3 M 3L
» come to an end=finish Al asdl ) Juas /R
Word Formation Derivative Meaning
> free » freedom &,
» wise » wisdom 4SS
» bore » boredom Sl
> parent > parenthood (LW1¢)1) a0 a3 5l 8 g1 A yo
» neighbour » neighbourhood 8)9loeall ddlaiadl / 8 sl
» child » childhood dgala)l dl>yo
» adult » adulthood Boldl ol udy)l dl-ye
» member » membership dgac
> leader > leadership R
» champion » championship gl
» relation » relationship a8l
» hard » hardship g0
» friend » friendship A8luye
» reader » readership el 8l (oo )
» hand > in handy ldude zraa
Word Pairs Meaning
» here and there (O 5§ Dguaiall) lag b
> peace=dq uiet (o) £99g)15 Adl) LSl 90l
» pros and c O gallg Llsell
> again :d gain (850 ro AST) DSSs Dlye
> trial and error Unslg dgloall
> live and learn (DBodo bo b Gaamy (1) 8T lasy ST imy )
> neat and tidy Cipes il
» loud and clear (T2res zly Siw) o9 S
» short and sweet (Audng paises [Kéw) dudall saiseall
» bits and pieces 8 psuall Al sLidlg adadll — olia))
Word Pairs Meaning
» rain or shine (U2 punzr (3) g dall 6 Lago
> life or death Tur oge of plas — Cige ol Bl (Wlas)
» sooner or later d Losd ol O = U>T 91 Mo o)
» dead or alive Ui ol L>
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1. New facts have recently come after many investigations.

Which of the following BEST fits the above gap?

[l
[]
[]
L]

of age

to light

to term
into effect

Fill in the gaps with words from the list below: (There is one extra word.)

improper / inedible / commit / wisdom

1. My father has gained a lot of great _ wisdom over the years.

Fill in the gaps with words from the list below: (There is one extra word.)

misleading / serving / carbon / leadership

1. Our manager has some excellent leadership skills.

Fill in the gaps with suitable prepositions .

1. The work has finally come ___to__anend.

Fill in the gaps with affixes from the list below: (There is 2 extra affixes).

mis__/dis__/ __less/ __ship

1. Thereis no success without hard__ship___ and sacrifices.

bulg Ji bae Wl Conjunctions

P
Both ................ and....cceeeeieenne

Neither ............ (Vo] GRS

Either ................ (o] SN

Not only ......................but also.................
Whether.....cocooeevvvennne.. OF/Or NOt..ccueeeeeereeeeeen

Both .......... and ..., but neither of ........cccoeveieeeeeenene.
All of v, ,but none of ...,

1. We can buy both the sofa and the bookcase for our new flat.

2. We can buy either the sofa or the bookcase, whichever one you like best.

3. We can buy neither the sofa nor the bookcase because we can’t afford them.
4. We can buy not only the sofa but also the bookcase.

5. We're not sure whether we want to buy the sofa or the bookcase.
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Choose:
1. Both Hamad and Sami finished their studies, but of them has found a job yet.

a. whether b. not only c. either d. neither
2. All of his friends called him after the accident, but _ of them visited him.

a. whether b. none c. either d. neither
1. You can present your project today or delay it until tomorrow.

Which of the following BEST fits the above gap?

[] both
|:| none
. either
|:| neither

|2. Ali invited all of his classmates to his party, but of them came.

Which of the following BEST fits the above gap?

. none
|:| both
|:| either
|:| neither

3. You can take a taxi or a bus to get to work.

Which of the following BEST fits the above gap?

[] both
I:l none
. either
I:l neither

Rewrite the following sentence using the words given.

1. Salem didn’t attend the lecture. Nasser didn’t attend the lecture. (neither...nor)
Neither Salem nor Nasser attended the lecture.
2. They want to buy a car. They want to buy a motorbike, too. (not only)

They want to buy not only a car but also a motorbike.
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2024 A Gl a8 gSal

1. Don’t throw this box away. It might come

Which of the following BEST fits the above gap?

|:| of age
|:| to light
. in handy

|_| into effect

2. You must come

the fact that you are jobless now.

Which of the following BEST fits the above gap?

|:| first
|:| in handy

|:| into effect
. to terms with

| 3. Her family’s welfare will always come

for her.

Which of the following BEST fits the above gap?

. first

|:| in handy

|:| into effect
|:| to terms with

during the 1960s.

4. My parents came

Which of the following BEST fits the above gap?

. of age
|:| to light
|:| in handy
[]1 toanend

5. The first thing that comes

when | see Osama is how fit he is.

Which of the following BEST fits the above gap?

|:| of age

|:| in handy
. to my mind
]

to terms with
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1. Ali nor Ahmed came to the party yesterday.

Which of the following BEST fits the above gap?

|:| Both
|:| None
|:| Either

Neither
2. did | lock the door but | also closed the windows.

Which of the following BEST fits the above gap?

|:| Both
|:| Neither

|:| Whether
. Not only

3. Neither the students nor the teacher in the classroom yesterday. They had a

class in the lab.

Which of the following BEST fits the above gap?

|:| is
|:| are
. was
|:| were

Rewrite the following sentence using the words given.

1. Salem doesn’t speak French. Nasser doesn’t speak French. (neither...nor)
Neither Salem nor Nasser speaks French.

2. Omar eats fish. Ali eats fish too. (Both...and)
Both Omar and Ali eat fish.

3. You can drink tea. You can drink coffee. (either...or)
You can drink either tea or coffee.

4. He changed his job and got married. (not only)

He not only changed his job but also got married.
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Fill in the gaps with words from the list below: (There is one extra word.)

irrelevant/ breaking / membership / soil

1. I think | forgot my membership card. How can | enter the club?!!
2. This sentence is irrelevant to the topic. It doesn’t match.
3. He was charged for breaking the law several times.

Fill in the gaps with words from the list below: (There is one extra word.)

More practice

inaccurate / innocent / neighborhood / change

1-There were lots of kids in my neighborhood where | grew up.
2- Her lawyer believes that she will be found innocent ___ of the crime.
3- Your information is inaccurate . I was born in 1956, not 1965.

Fill in the gaps with words from the list below: (There is one extra word.)

miscalculated / brought / impossible / boredom

1-She varies her workout activities to avoid boredom
2- | think you miscalculated the chairs. There are 10 people with no seats.
3- The criminal was brought __ to justice after committing three murders.

Fill in the gaps with words from the list below: (There is one extra word.)

illegible / a fine/ friendship / boredom

1-His writing is almost illegible . We can’t understand anything.
2- Yesterday, | received a message to pay ___afine__ for breaking a traffic signal.

3- | value his friendship above anything else.

Fill in the gaps with suitable PREPOSITIONS. (in - into — with — on — from — for — to — out of — off — by)

1. The hotel guests tried their best to escape from the burning building.

2. The security guard blamed the woman for leaving her children unattended.

3. The government plans to knock some old buildings down and replace them ___ with___a hotel complex.

4. My father will invest more than QR 700.000 ___in the new factory.

5. The car salesman tricked the customer into buying this car.
6. Before the exam, the students centered ___on the last chapters of the book.
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7.We can’t solve our financial problems without finding what factors contribute__ to___ their existence.
8.Unfortunately, many people have fallen victim ___ to internet scams and even lost their life savings.
9.Kate knew she was being tricked ___ by her colleagues, but she decided to play along with the joke.

10.The tourist realized that he was being ripped off , 50 he angrily left the shop.

11. Mr. Hamad tried to mislead the police ____into____ believing that he was someone else, but in the end,
he was caught.

12.Tony likes playing jokes __on___ his friends, but he doesn’t like it when they do the same to him.

13.They tricked the investors __out of ___ their money by pretending they owned a company.

Fill in the gaps with affixes from the list below: (There are 2 extra affixes).

mis__/dis__ /under__/ _ less

1. The surfer felt totally defense ___less as the shark approached him in the water.
2. This advertisement is totally _ mis leading what it states is not true.

Fill in the gaps with affixes from the list below: (There are 2 extra affixes).

mis__/dis__ /under__/ less

1. Some people like to eat ___under___cooked food. They don’t like it well done.
2. Wait till | __dis__connect the machine from the power supply before you start repairing it.

Fill in the gaps with affixes from the list below: (There are 2 extra affixes).

mis__/dis__/under__/ less

1. The builder __mis___calculated how many tiles are needed for the kitchen floor, and now we don’t have
enough!
2. The new eye cream promised flaw__less__ skin around the eyes.

Fill in the gaps with affixes from the list below: (There are 2 extra affixes).

mis__/dis__/ __hood/__ship

1. The airline told Ali that people with dis___ability are given seats at the front of the plane.

2. It is said that child__hood____is the best stage of our life.

cleall @Il

sl G992l @) les zog
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